Name:

Mult., Money, Division Date:

—Multiplication and Money

65 x 10 = $45.86 65 x 5 + = 408
+95.85 $36.26  $99.75
86 x 100 = X 65 x36 | 76 x3+ = 282
78 x 1000 = 8 x 4 - 460
X $456.95 skl 2
174 x 10 = +847.79 68 x 7 + = b10
950 x 100 = iy 38 x9+ = 441
— Division
Identify the dividend.
6)165 8 5 679
28 r2 36 r4
8 5 6 5
5)486 7 5 474
—Money
Circle the notes and coins needed to pay fo
as possible) Shopping "
Tie $12.80
Shirt $26.35

Shoes  $45.60
Jacket $67.90

~Problem Solving

Jimmy bought 2 kilograms of salami and
3 kilograms of bananas. How much
change does he get from $50.00?

Salami $6.40kg

change = $
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